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P-O=xi+tyj, P-0 =2"i+y3
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V@' =22+ Y —y)? + (2 — 2)?

00000000000000000000000 (Cartesian coordinates) 10 000000000000
0000000000000 v=(a,B3,7), v =(/,8,7) 00000
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000000000000000000000000000000000000000000000000
00000000000000000000000
000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000
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000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
0 Hermann Weyl 00 0000000000000 *20000000000 VOOOOOOODOOOO
0000000000000000000000000000000000000000000000000
00000000 (Buclidean space) D0 000000000000 000000000000000000
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0000000000000 00000000000000000000000000000000000
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1l 0poo00000000v-w 0000000000000 D0000O0D0O000
*12 Raum, Zeit, Materie, Springer, 1923.
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0000000000000O0O000oOO poOOOOO (¢,y,2) 0000000000000 OOOOOO
0000000000000000000000000000000000000000AH OOOOOOO
00 (o,8,7) 00000p, 0000 (20,50,20) 0000(p—po) L (a,8,7) 0000000000000
O0a(z—2z0)+By—yo)+7(z—20)=00000000000000 (the equation of a plane) 000 O
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(o/,4,¥)00000000000p = (x0,0,20) €LO000000000O0LOO0000 p(x,y,2) 00
0ooooooO
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(i) 000 L:ox+2y+32=—-1,—c+y=1H:V2rx—y+2:=30000000000000

0 23. 000000000000 COCOOOOOOOOOOOOOOOOOOOOOOOOOO0O
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a1 a2 - A2n

A= . . .| = (aij)i<i<mi<j<n
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